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2.2.1 Factoriser:

m) (z—3)(xz+ 1)+ 2(x — 3)* — (z — 3)
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= (DUS) [ AA+1 4 2o —6L& —
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g) 2yz° + 8y°z* + 6y°z° — 2y°2°

= 2‘3‘2-2<2-3+L|31~1‘§ ‘5‘322: —93)

n) (wof—(u+oP = (u4v)" | L) 7\]
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A~ + 2ABG + R - CA’LB)%

AR = (A—8B) (AT+ AR + B2)
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AT +4B = (A4B)(A —AB + 1Y)




2.2.2 Factoriser :
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2.2.4 Factoriser :

a) r°+ 5x+6 e) 9z° + 6z + 1 i) 6z + 5z + 1 m) 40z* + 3z — 28

Tvondwe  dw  deusil o me ﬂhéd [ Ui buwﬁ

(v + ) x th) = o4 (Mb)ac + 2b
) X t5x +6 = (2 +2)(o+t3)
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e ) Yoo t 4o +4 = (BauMJL
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2.2.5 Factoriser :

a) =13z + 36 — <DL1) ~ 13@@L) + 34

43X 30 = (X-4)[x—9)

— (%L—“LC)LDCL” ?Jj

= (x- 2 +2) (x —3)(x +3)



